
11.3645
Part number

Genuine Accessories
Installation Instructions

Part name
Engine and reduction gearbox undercover

02/2018
Дата11.3645



Page
0111.3645

11.3645



Page
02

GB
Read this mounting manual carefully, before you start the installation. Warranty
is granted only when installation is done correctly by your KIA dealer.

8x Ø10
2x

2x 

2x 

2x 

1xМ10

2x

1x

1x

1x

 
 

2x М8х25
3x М10х20 2x  M10x20

2x  M10x110

4x Ø8

 

 

2x М8х20

2x М10х30

11.3645

11.3645



Page
03

1

2

3

47  Nm

2x M10x30

2x M8x25

11.3645

11.3645



Page
04

4

5

6

Ø20

47  Nm

2x M10x20

24  Nm

2x M8x25
1

2

2

1
1

2

11.3645

11.3645



Page
05

1

2

3

1x  M10x110

1x  M10x110

11.3645

11.3645



Page
06

4

5

6

1x  M10x110

47 Nm1x  M10x110

47 Nm

1x  M10

47 Nm

2x  M10x20
2x  M8x20

24 Nm

11.3645

11.3645


	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7

